

$$a_1 + a_2 + a_3 + a_4 = 21 \Rightarrow a_1(1+r+r^2+r^3) = 21 \Rightarrow \frac{r}{1-r}(1+r+r^2+r^3) = 21 \Rightarrow r + r^2 + r^3 + r^4 = 21r \Rightarrow r^4 - 17r^3 + r^2 + r = 0 \Rightarrow r(r^3 - 17r^2 + r + 1) = 0$$

$$r = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} = \frac{17 \pm \sqrt{289 - 4}}{2} = \frac{18 \pm 17}{2}$$

$$\frac{17 \pm 18}{2} = 17, \frac{1}{2} \Rightarrow \text{اگر } r = 17 \text{ باشد } a_1 = \frac{21}{1+17+17^2+17^3} \Rightarrow a_1 = \frac{1}{17^3} \Rightarrow \text{اگر } r = \frac{1}{2} \text{ باشد } a_1 = \frac{21}{1+\frac{1}{2}+\frac{1}{4}+\frac{1}{8}} = \frac{168}{15} = \frac{56}{5}$$

$$a_1 = x^2 - 2/a_2 = 2x/a_3 = x^2 + 2 \Rightarrow (2x)^2 = (x^2 - 2)(x^2 + 2) \Rightarrow 4x^2 = x^4 + 4x^2 - 4 \Rightarrow x^4 - 4x^2 + 4 = 0 \Rightarrow (x^2 - 2)^2 = 0 \Rightarrow x^2 = 2 \Rightarrow x = \pm \sqrt{2}$$

$$\text{if } y = x^2 \Rightarrow y^2 - 2y - 4 = 0 \Rightarrow y = \frac{2 \pm \sqrt{4 + 16}}{2} = \frac{2 \pm \sqrt{20}}{2} = 1 \pm \sqrt{5}$$

$$y = 1 + \sqrt{5} \Rightarrow x^2 = 1 + \sqrt{5} \Rightarrow x = \pm \sqrt{1 + \sqrt{5}} \Rightarrow a_1 = x^2 - 2 = -1 + \sqrt{5}$$

$$y = 1 - \sqrt{5} \Rightarrow x^2 = 1 - \sqrt{5} \Rightarrow x = \pm \sqrt{1 - \sqrt{5}} \Rightarrow a_1 = x^2 - 2 = -1 - \sqrt{5}$$

$$1 + 9 + 9^2 + 9^3 + 9^4 = \frac{121}{11} \Rightarrow a(1 + 9 + 9^2 + 9^3 + 9^4) = \frac{121}{11} a = a_1 + a_2 + a_3 + a_4 + a_5 = \frac{121}{11} a$$

$$1292 = 2 \times 11^2$$

$$10000092 \Rightarrow A = 9x + 1 = 9x \Rightarrow A = \frac{9x}{9} = x \Rightarrow A = 22/5$$

$$10000092 \Rightarrow B = 1 \times 9^2 \Rightarrow B = \sqrt{81} = 9$$

$$A + B = 22/5 + 9 = 22/5 + 45/5 = 67/5$$

$$-\frac{1}{2}, -\frac{1}{4}, \dots \Rightarrow a_1 = a + (n-1)d = -\frac{1}{2} + (n-1)(-\frac{1}{4}) = -\frac{1}{2} - \frac{n-1}{4} = -\frac{2+n-1}{4} = -\frac{n+1}{4}$$

$$128a_1 + a_2 + \dots \Rightarrow a_1 = 1 = ar^v \Rightarrow r^v = 1 \Rightarrow r = \frac{1}{r}$$

$a_3, a_2, a_1$   
 $(a+rd)(a+rd)(a+rd) \Rightarrow (a+rd)^3 = (a+rd)(a+rd) = a^2 + 1rd + rd^2 = a^2 + \frac{1ad + rad + 1rd}{1 \cdot ad}$   
 $\Rightarrow rad + rd^2 = 0 \Rightarrow rd(a+rd) = 0 \xrightarrow{+rd} a+rd = 0 \Rightarrow d = -\frac{a}{r}$   
 قرین حاصل یا  $\frac{a}{r}$

$a_4, a_3, a_2$   
 $(a+rd)(a+rd)(a+rd)(a+rd) \Rightarrow (a+rd)^4 = (a+rd)(a+rd) = a^2 + 2rad + rd^2 = a^2 + \frac{2rad + rd^2}{1ad}$   
 $rd^2 \Rightarrow -rad + rd^2 = 0 \Rightarrow rd(-a+rd) = 0 \Rightarrow -d(a+rd) = 0 \Rightarrow a = d \Rightarrow \frac{1}{r} = \frac{1}{r}$   
 $a_1 = a_2 r^1 = \frac{1}{r} \times r^1 = r^1 = r$   
 $\frac{1}{r} \times r^1 = r^1 = r$

$r/r, r/r, r/r$   
 $r/r, r/r, r/r \Rightarrow r/r = r/r = r/r \Rightarrow r/r = r/r = r/r \Rightarrow r/r = r/r = r/r$   
 $r^2 - r + r = 0 \Rightarrow r = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a} = \frac{-1 \pm \sqrt{1 - 4}}{2} = \frac{-1 \pm \sqrt{-3}}{2}$   
 $r = 3$

$a_1 = r/a_2 = \frac{v}{r} \Rightarrow d = \hat{r} - a_1 = \frac{v}{r} - r = \frac{v - r^2}{r} = -\frac{1}{r} / a_2 = r + r \times (-\frac{1}{r}) = r - \frac{r}{r} = r - r = 0$   
 $\frac{a}{r} / a_1 = r + (r \times -\frac{1}{r}) = r - \frac{r}{r} = \frac{1}{r} / a_{1r} = r + r \times (-\frac{1}{r}) = r - r = -1 / a_{1r+k}, a_{1+k}$   
 $a_{1r+k} \Rightarrow -1+k, \frac{1}{r}+k, \frac{a}{r}+k \Rightarrow (\frac{1}{r}+k) = (-1+k)(\frac{a}{r}+k) \Rightarrow k^2 + \frac{1}{r}k + \frac{1}{r} = k^2 - \frac{1}{r}k - \frac{a}{r} \Rightarrow (\frac{1}{r} - \frac{1}{r})k + \frac{1}{r} + \frac{a}{r} = 0 \Rightarrow \frac{1}{r}k + \frac{1}{r} = 0 \Rightarrow k = -\frac{1}{r} / a_{1r+k} = -\frac{r}{r}$   
 $a_{1+k} = -\frac{r}{r} = -a / a_{1+k} = \frac{-1}{r} = -r / q = \frac{(a+k)}{(a+k)} = \frac{-a}{-a} = \frac{r}{a}$

$a = \lambda / a_1^2 = A + d / a + q^2 = A + qd \Rightarrow d = a(q^2 - 1) \Rightarrow r = q^2 \Rightarrow r^2 - q^2 + 1 = 0 \Rightarrow$   
 $r = \frac{1 \pm \sqrt{1 - 4}}{2} = \frac{1 \pm \sqrt{-3}}{2} = \frac{1 \pm \sqrt{-3}}{2} \Rightarrow q^2 = 1 \Rightarrow q = 1 \Rightarrow d = 1 / a(1 + d^2 + q^2) = a(1 + 1 + r^2) =$   
 $d = a(1 + 1) = 1(1 - 1) = 0 \Rightarrow d = 0$